Townhouse in Gharghur REMAX



Reference No: 240311069-115

Gharghur, Central



€390,000

Total Rooms: 5

Bathrooms: 1

Floor Area (m²): **82**

Bedrooms: 3

Townhouse - For Sale - Gharghur

GHARGHUR - TOWNHOUSE - Unconverted 2 bedroom plus study Townhouse set in a tranquil area of this lovely village close to the village square. Comprising of entrance Hall, Living room, guest Bathroom, Kitchen and Dining. Upon the first floor, one finds two Bedrooms leading to the top floor enjoying distant views from the rooftop including air space. UCA area. Further development is also possible. Contact the agent for more information.

Features

Air Space

Rooms

Kitchen/Living/Dining: 6.36 x 2.9 m (18.44 m2)

Double Bedroom : 2.93 x 6.16 m (18.05 m2)

Double Bedroom : 2.87 x 2.31 m (6.63 m2)

Double Bedroom: 5.06 x 2.46 m (12.45 m2)

Hallway: 2.4 x 3.43 m (8.23 m2)

Bathroom: 2.27 x 1.32 m (3 m2)

Open Space : 2.74 x 1.19 m (3.26 m2)

Open Space : 2.93 x 4.12 m (12.07 m2)

Open Space : 2.93 x 6.16 m (18.05 m2)

Gallery

















Stefan Borg RE/MAX Masters - Qormi

M: 79052141

E: sborg@remax.com.mt

T: 22265300

RE/MAX Masters - Qormi

4Triq Antonio Muscat Fenech, Qormi, Malta